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v XA L

(=R iva z = K & (R K & (F) (G 7b)
1 80 e fFX s AE 6.16
2 79 Sl = XH FE 6.17
3 85 AR —3k AR K— 6.20
4 18 &F EHR &F EX 6.21
5 13 A A R 6.28
6 63 MBI BR FERERE R B 6.36
7 24 AT = AT #E= 6.45
8 9 £ HREER £FH 2 6.46
9 76 =E ¥ B8 5Z 6.46
10 54 AHE BR AH HE 6.47
11 65 M AT BK BEE 6.50
12 90 HH EBE® hE EE 6.58
13 4 HE KE HE EE 6.58
14 56 RAEINAA RHISL 6.58
15 17 RE AN RE —H8E 7.02
16 36 ¥l TR &K 7.02
17 30 NN EE NFx EBEL 7.05
18 35 BENE TR R 22 7.06
19 33 EaR B FEAR BA 7.10
20 39 LSRN -7 BE L 7.12
21 3 FEHE FEEE 7.13
22 62 REH Kb HEH X 7.15
23 15 NH Et /N FEER 7.19
24 73 KEF HEAL KEF XH 7.21
25 34 AR FBEZ B4R T3 7.29
26 64 ahAd — shd HEHD 7.38
27 82 W B W RE 1.42
28 29 ®EE  thEE BB FHE 7.43
29 61 B OER H BT 7.44
30 57 2 R— HE B 7.45
31 7 % =ik 5 kEs 7.45
32 23 JeA BEAR kA B 7.45
33 83 LI E % L FHAH 7.46
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NAVES S XA L
(=R iva z = K & (R K & (F) (G 7b)
34 68 BEE & BEE &= 7.47
35 28 nE EF mE A 7.52
36 12 A AR BE 8.01
37 88 ME  AE e —= 8.05
38 14 NzE =N /INE RZER 8.06
39 51 hE K5 mE ot 8.10
40 66 FEHE R BEHTE 8.11
41 50 BE L KER BE 8.13
42 41 MH 27 THE &A 8.23
43 74 Had B =EH EX 8.24
44 48 FH FF EM BE 8.29
45 67 FEE H54 R ZEE 8.35
46 84 A FRE A $&ETE 8.42
47 11 NS AT OZE 8.45
48 89 = MK = BE 8.48
49 86 A fd = LARBE 4 & 8.49
50 20 & BBF e =t 8.49
51 59 RS [RERE 9.04
52 32 BH Es BH  =E 9.16
53 87 ma EE mA KRR 9.22
54 31 M M BhE B 9.24
55 77 =H O fEE EH T 9.33
56 37 BB BiE BAE R 9.34
57 10 KFE 2% K8 ERER 9.38
58 2 E #%HF mE BR 9.41
59 1 hE E— E it 9.41
60 6 FK = BX B 9.42
61 75 =B BT = BE% 9.44
62 8 NEF EFEE nE & 9.51
63 27 BEH KEHE SH A4 9.56
64 45 T == TR K 10.00
65 47 HEAR B HRA ER 10.06
66 25 A K& AT YRR 10.06
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v XA L
(=R iva z = K & (R K & (F) (G 7b)
67 21 F BT F BRE 10.22
68 55 BR &= BFE  SERK 10.26
69 92 EE BT EE AR 10.32
70 60 JREFE JREF LR 10.38
71 42 Ak &K AR AR 10.41
72 81 W B I 10.44
73 58 W% B — B B 10.47
74 52 SSENI=VIN A ifE 2= 10.47
75 43 HR & HE (TE 10.48
76 44 HA K EEB A BEE 10.59
77 69 ma M= ma E4& 11.39
78 71 I BT I & <n 11.51
79 19 &F KRE &F =i 12.03
80 91 A e A 25 18.32
OoP 93 BEE MR FEE  WAKEDR 10.41




